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INSTRUCTIONS
 

 
1. AnswerALL the questionsin this question paper.

2. Write clearly and neatly.

3. Numberthe answersclearly.

4. All written work MUSTbe donein blue or black ink and sketches must be done in pencils.

5. Only blue or black ink may be used for written work

6. Section A comprises of multiple choice questions with option A to D. Indicate your best

option in the examination answer booklet provided.

7. For section B you are required to showall calculations in the answer booklet provided.
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SECTION A
(Write downtheletter corresponding to the best option for each question)

QUESTION 1 [35 Marks]

1.1. 72 is a Multiple of?

A. 9 & 10 B.7&9 C.18&5 D.9&8

1.2 Whichof the following numberis a prime factor of 12?

A. 5 B. 2 C.7 D. 4

1.3. The Lowest Common Multiple (LCM) of 60 ,35 and 75is

A. 1350 B.2100 C.300 D.5

1.4 The expression (9.52 x 10°) + (3.85 x 10°) simplifies to (3 s.f)

A. 13.37 x 10° B. 36.652 x 10° C.3.67x107-7 D.187x 107°

1.5 The expression xy — 8x — 2 — 2xy + 8x +1 simplifies to:

A. -—xy—-1 B.13x+1 C. —4xy -1 D. 1

1.6  Factorize a*b — b?

A. a(a? — b?) B. b(a— b)(a+ b)

C. b(a — b)(a — b) D. a(a — b)(a + b)

[2]

[2]

[3]

[3]

[S]

[3]

1.7 At present, a manis 41 years old and his son is 5 years old. After x years, his son’s

age will be half his age. What is the value of x ?

A. 31 B. 46 C. 29 D. 10

1.8 Givena=-2;b= 1, , the expression 2ab~? simplifies to

A. 8 B. 8c C. 4b D. -8

2m-1 _ mt+1 ie?

4

A. 1 B. -7 C. -49 D. 7

 1.9 The value of m in the equation

[3]

[2]

[3]

1.10 The original price of a phone is N$8 500.The manager has agreed to give you a

discount of 15% for paying cash. After the discount, you are expected to pay 9%

VATfor the phone. How muchwill you pay on cashfor the phone? [3]

A. N$7225. B. N$650.25. C. N$7875.25. D.N$1350.



If A = {a,b,c,d} and B = {a,c, 1,2,3,4}.The set A — B =? [3]

A. {b,d} B. @ C. {1,2,3,4, a,b, c,d, e, f} D. {1,2}

Rewrite the fraction , > in standard form correct to 3 significance figures [2]
7

A. 2.71 x 10° B. 2.72 C. 2.71 x 101 D. 2.714

Given A = (; - } ,the determinant of A is [3]
1 6y

A. -3 B. -5 C.0 D, 22-3



SECTIONB (showall your calculations in the answer booklet provided)
 

QUESTION 2 (26 marks)

 

 

 

 

2.1 The table shows the numberof students in the school choir

Students Number

Girls 48

Boys 64  
The choir teacher plans to arrange the students in equal rows. Only girls or boys will be in

each row.

Whatis the greatest numberof students that could be in each row? [3]

2.2. Simplify each of the following expressions without using a calculator

2.3

2.4

240+4
 2.2.1"+17 —3(2 x 2) [4]

222 (x*y*)}* x xy [3]
2.2.3 x*y + 2xy? — 3y* — 2xy3 — x*y + Sx3y + 2yx3 — 4xy? + 2y* [3]

Chelsea wonsix less than twice as many soccer gamesas Arsenal.

2.3.1 Write an expression in terms of x , representing how many games Chelsea

won? [2]

2.3.2 If both teams wona total of 48 games, write an equation showing thetotal

numberof games wonby both teams. [3]

2.3.3 How many gamesdoes each team win? [2]

Solve for x in the following equations:

2.41 4x-2=2x+10 [3]

24.2 2x—-1==x+9 [3]

 



QUESTION 3 (39 marks)

3.1. Consider the Venn diagram belowillustrating the marital status of male staff in an

organization

 

 

   

S=1400

Married Male

x5

3.1.1 Whatis the value of x? [4]

3.1.2 How many female staff members are therein this organization? [2]

3.1.3 How many of the male staff members are married? [2]

3.1.4 How manystaff members are married? [2]

3.1.5 What percentage of staff members are not married? [3]

3.2 Let: 0 = {1,2,3,4,5,6,7,8,9,10} , A ={x:xis anintegerand1<x <6},

B = {5,6,7,8,9}
Find

3.2.1 AUB [3]

3.2.2 ANB [3]

3.2.3 (AUB)*® [2]

3.2.4 ANB [3]

3.4 Given that matrix A = (5 >) and B= ¢ 5)2 6 3

3.4.1 Obtain the matrix A’. [4]

3.4.2 Find the determinant of the matrix A. [2]

3.4.3 Obtain the matrix A — 2B. [4]

3.5 Congratulation!! You just won N$45 000! You decide to invest your moneyand the

bank presents you with this investment plan. You may invest your N$45 000 at 5%

interest, compounded semi-annually, for a period of ten years.

How muchinterest are you going to earn after 10 years? [5]

END OF EXAMINATION PAPER


